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SERIE 2 : LOI D’OHM...... CORRIGES .......

EXERCICE 1 :
U=R- 1= 1 =2 -2 _0201A
RTot
U =R -1=13-0.201=2.62V
U,=R,-1=16-0.201=3.216V
U,=R,-1=90-0.201=18.09V
EXERCICE 2 :
|2: ITot:&:EZZA
R, 6
U3 = R3- | =122-2 =244V
U1=R1- 1=4.2=8V
UTot =U1+U2 +U3 =8+12 + 244 =264V
EXERCICE 3 :
AU =U, U, =18V — | =<2 _0.024A >R =2Y __18 2500
500 | 0.024
EXERCICE 4 :
R+R,=R,= 30 = R12||R3 =R,;= % =15Q= R ,,+ R, =R;,, =5.5Q

U
oy = o =8.72A

Tot
U,=R,-l,, =3488V = U,=U-U, =13.12V
I, =1, =8.72A = I, =% = % =437A= I, =1,=1,,—1,=872-4.37=4.35A
3

U =R-1,=1.435=435V = U, =U,-U,=13.12—4.35=8.77V
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EXERCICE 5 :
R R,
R|R,=R,=R= =6.96Q0= R, +R,+R, =R,,,=108.96Q
R, +R,
Rrot = Rizsd|Rs = Rz Rs _ 35500
R1234+ RS
o = Y _653A

Tot

U, =230V = I, = % =442A= I, =1, =1, — I =2.11A

5

U,=R,-1,=211V = U, =R, -1, =422V = U, =U,=U ,— (U, +U,) =14.78V

= _1478 g og5a 1, =02 1478 ) 4350
R, 15 R,
EXERCICE 6 :
a)
| = v__ b =0.033A
R +R, 450
U,=R,-1=330-0.033=11V
U,=R,-1=120-0.033=4V
b)
R,|Rs = R Re 54540
R, + Ry
Ry = 330 + 54.54 = 384.54Q
U 15

=0.039A

I = =

R +R, 384.54
U,=R,-1=330-0.039=12.87V
U,=R,-1=54.54.0.39=2.12V
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